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Ouenu ceoss cam!

3a 10 BepHBIX OTBETOB — 5.
3a 6-8 BepHBIX OTBETOB — 4.
3a 4-6 BEepHBIX OTBETOB — 3.

3a 3 BEpHBIX oTBeTa — 2.
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PelunTte HepaBeHCTBA:

1)3x >0
2)—2x>0

3)dx >1
4)—4x >1
5)x” >4
6)x” <0
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8)x” >0
9)x > ()
10) > ()

1 1)(x +4)
12) x+7>0
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1)B ‘
2) a Ouenn cedst cam!
3)d
_ * ‘3a 5 BepHBIX OTBETOB — 5.
4). ~ .3a 4 BepHBIX OTBETOB — 4.
| 3a 3 BEpHBIX OTBETOB — 3.
5) a

‘'3a 2 BepHBIX oTBeTa — 2.




T yrreTyy

-
il

ey

I
“riom
0‘"'

LSS o

)

ALY
I g
-




a)4x” +4x+1>0

) : :










OTBerThI:

1) (~00;-0,5)U(=0,5;+0)
2) Hem peuieHus
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